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Answer Question No. 1 which is compulsory and any five from the rest.

The figures in the right-hand margin indicate marks.

1. Answer the following questions : 2x10

(a)
(b)
(c)
(d)
(e)
(f)
(9)

Define a feasible regjiap and a feasible solution.
What are slack and surplusvariables ?
What is degeneracy ina LPP ?

Write the mathematical model of

. _ % _
Explain degeneracy in a Transpo n problem gnd how to resolve it.
Differentiate between source, sinki

What is the difference between mixed integer programming and pure
integer programming 7

What are the basic characteristics of a queuing system ?
What is Langrage’s multipliers? What is the importance of this 7

Explain Kuhn — Tucker condition.
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2. (a) Solvethe LPP using graphical method

Minimize Z = —6x, —4x,
Subjectto  2x, +3x, > 30
3x, +2x, = 24
X, +X, >3,
X, 1 X, 2 0.

(b) Solve the following LPP using Big M method.

Minimize  Z=4x, +X,
Subjectto  3x. +x, = 50
4x, +3x, =2 24

4:{1 +X, 2 4

X% 2 0.

(b) Obtain the dual problem of the following primal LP problem and solve 5

3

=1

Minimize L= X, + X,
Subjectto  2x, + 3x, +4 X, > 2
511 +2:f.2 +X
X1 Xy 2 0

4. (a) Solve the following Transportation problem to maximize the profit

HSSM 3302

Source/Destination | A B C | D |Supply
1 40 | 25 | 22| 33| 100
2 4 | 35 | 30| 30| 30
3 38 | 38 28 | 30 70
Demand 40 | 70 | 60| 30
2
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(b) Four machines are available to assign five jobs find the assignment of

machines to the job that will result in maximum profit. 5
Machines/jobs A B C D e
1 62 | 78 | 50 | 111 | 8
2 71 84 61 73 | 59
3 87 92 111 71 | 81
4 48 64 87 7185

5. Find the optimum integer solution to the following LPP 10

Maximize Z=4x, + 3x2

subjectto  x, +2x, < 4

6. Solve the following problem using : iethod for 6 iterations. 10

Minimize Z=x°-2x-5e*inthei

7. Maximize Z= Xx2+2x°+x,° 10
Subjectto 2 x, +x, +2x, =30 ,
R B 0
using Lagrange method.
8. Write short notes on the following : 5x2

(a) Project gradient method.

(b) Genetic Algorithm. -
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